H & 0l & AHS B Ml A

SA AFY
3 AF= & U= 2
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- 825,017
A== & ZL= 2 525,976 464,999 60,977
= 28,700
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- 361,436
A== 2l 344,593 290,909 53,684
= 28,700
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AF5E 2 80,700 64,609 16,091
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01 AtR2t2lt] 78,000 60,860 17,140
Ogpt4gH) 62,240
—2E)HE 7Y 580, 0002143} 1,740
~AES HETA AD0 242
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O=g=g 15,400
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~HBSIRE BA(MA)SY
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Ot d S22 KA
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= 27,700
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A A
T BHSSAY|(ASD)
s lIEE2ghl EER=E)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
HHSHHH(AF) 473,581 336,934 136,647
el 23| 414,445 287,038 127,407
J|&E Q]| 414,445 287,038 127,407
101 @124l 414,445 287,038 127,407
01 2= 87,284 68,661 18,623
OAIZte 22+ 87,284
—UBR(72I1T)
11,3192 x20H *35A| 2++ 12& *1.02¥90% 87,284
02 JIEtA S 136,517 0 136,517
OXHAFOIMME AZFHEEIRHADIMI(LIZ,
24) 136,517
—J|IE2= 3,850,800 x2F + 122 92,420
— ™A 92,420,000 *3. 1% 2,866
—&HS 92,420,000 6% 5,546
—IEY 1,637
Hi <2 Xt 40,0002 +0.9x2H x 123 864
JIEIE 20,0002 *1.61x2H + 122 773
—JAUGAH| 140,000&2H x 122 3,360
Lk
185,000 x2Y +35/40A1 2++ 12& 3,885
—CHRI g =S|
50,0002 *2Y *35/40A1 2+ 12& 1,050
—AI2I2|2f 4
12,5313 *x2H+35A| 2Hx 123 +1.02%90% 9,663
— I 4|
3,850,800 #2X #84%+86%+*13/30 2,411
— SR
3,850,800 2 «B4%+5%+40/35A| 2t 12E 4,437
~282 223
3,850,800 x2H *10% 12 9,242
03 SR (RIHL) 22X 190,644 218,377 N7, 733
Os SEXRAN 1Y, JIHAF=IE TAH 1Y
S I= Fd| 2% 190,644
=Jl2= 2,295,570 4B+ 128 110,188
—&03 2,295,570 4% x200% 18,365
—2Z22Y 15,5403 *1.5%x4F 120 Al 24 11,189
=
16,930& 1. 5%x2H *4A| 2tx 12 2,433
—xsI2E2LE
16,9303 *BA| 2+ +5H x5 16,930
s Bt = 60,0003 x4H 123 2,880
—iEsg 480
HH < Kt 40,0002+ 18+ 12& 480
&2 344, 3403 4 F +23)| 2,755
—2&8 X< 40,0002 2+ 128 960




SN ASD
S HY2AIHH(A=D)
Chel: ol CERE)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
— = &l 140,000& x4 H x 122 6,720
—uEH| 140,000 x4 H 123 6,720
—HEESIHI 2,295, 5703 43 x60%+23| 11,019
Jl2&l 59,136 49,8% 9,240
J|=2Z| 4,200 4,200 0
203 AR F=&lH| 4,200 4,200
M 2GRS 4,200 4,200
OJ12(25%0lat) 350,000& =123 4,200
HYAIRZHI 54,936 45,69 9,240
201 LB-2AY| 31,752 25,704 6,048
01 AtR2telt] 31,752 25,704 6,048
ORM23HI 31,752
—Bt=ZH| 13,608
A=HFE 2,830,000 x90% 2,59
A=E 4,320,000 x90% 3,888
20=8 2,830,000 x90% 2,592
HAHEE 2,880,000 *90% 2,592
AFOtNE 2,160,000 x90% 1,944
— =l 18,144
ASHEE 3,840,000 x90% 3,456
A= 5,760,000 *90% 5,184
Z2N=E 3,840,000 *90% 3,456
A E 3,840,000 *90% 3,45
ASOHME 2,830,000 x90% 2,592
202 0idl 23,184 19,992 3,192
01 =LHO4 b 23,184 19,992 3,192
FHM2I=U0YI 21,168
—A=#HE 6,720,000 *60% 4,032
—2=8E 10,080, 000& *60% 6,048
—&sE 6,720,000 x60% 4,032
—EAIHEE 6,720,000 x60% 4,032
—HEtNE 5,040, 0003 *60% 3,024
O=UOHI(AIZFEERHI DI HI)
20,0003 *2B +7 2 122 +60% 2,016




